

NORTH HAMPTON BRIDGE PAINTING

Director of Project Development

42917

**NON-FEDERAL** 

PROJECT: NORTH HAMPTON BRIDGE PAINTING

STATE PROJECT NUMBER: 42917

**FED. PROJECT NUMBER:** NON-FEDERAL **DATE BIDS OPEN:** June 18, 2020, 2:00

SCOPE OF WORK: Turnpikes R&R Program Bridge Painting

November 19, 2021

**COMPLETION DATE:** 

LOCATION:

Awarded To: SOUTHERN ROAD & BRIDGE

LLC

715 WESLEY AVENUE TARPON SPRINGS, FL 34689-

6711

**Amount**: \$1,854,350.00

Certified by: PETER.E.STAMNAS

Award Date:

## **Summary of Bidders**

Contractor	Bid Amount	Rank
SOUTHERN ROAD & BRIDGE LLC 715 WESLEY AVENUE, TARPON SPRINGS FL 34689-6711	\$1,854,350.00	А
MODERN PROTECTIVE COATINGS INC PO BOX 119, HUDSON NH 03051-0119	\$2,094,600.00	В
ALLIED PAINTING INC 4 LAWWIN ROAD, CHERRY HILL NJ 08034	\$2,279,000.00	С
ROYAL BRIDGE INC 3601 Alt. 19 Suite A, PALM HARBOR FL 34683	\$2,365,700.00	D
MONOKO, LLC 760 BAYSHORE DRIVE, TARPON SPRINGS FL 34689	\$2,391,812.00	E
LIBERTY MAINTENANCE, INC. 777 N MERIDIAN ROAD, YOUNGSTOWN OH 44509	\$2,859,440.00	F
OLYMPUS PAINTING CONTRACTORS INC 556 ANCLOTE ROAD, TARPON SPRINGS FL 34689	\$2,908,072.00	G
GEMSTONE PAINTING SUITE 406, 1010 KENNEDY DRIVE, KEY WEST FL 33040-4019	\$2,917,000.00	Н



NORTH HAMPTON BRIDGE PAINTING 42917 NON-FEDERAL

				F	PS&E	715 WES	DAD & BRIDGE LLC LEY AVENUE IGS, FL 34689-6711	PO I	CTIVE COATINGS INC 30X 119 NH 03051-0119
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

	•	•							
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$200,000.00	\$200,000.00	\$30,000.00	\$30,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	6.00	\$5,000.00	\$30,000.00	\$200.00	\$1,200.00	\$1,000.00	\$6,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$2.00	\$4,000.00	\$0.10	\$200.00	\$1.00	\$2,000.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	2,000.00	\$1.82	\$3,640.00	\$0.10	\$200.00	\$1.00	\$2,000.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,000.00	\$0.34	\$680.00	\$0.10	\$200.00	\$1.00	\$2,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	4.00	\$10,000.00	\$40,000.00	\$500.00	\$2,000.00	\$1,000.00	\$4,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$4,500.00	\$18,000.00	\$500.00	\$2,000.00	\$1,000.00	\$4,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,000.00	\$20,000.00	\$500.00	\$2,000.00	\$1,000.00	\$4,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$150,000.00	\$150,000.00	\$60,000.00	\$60,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	4.00	\$10,000.00	\$40,000.00	\$500.00	\$2,000.00	\$2,000.00	\$8,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	400.00	\$25.00	\$10,000.00	\$1.00	\$400.00	\$40.00	\$16,000.00
556.402	WASTE MANAGEMENT	U	1.00	\$17,140.50	\$17,140.50	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00
556.401	WASTE MANAGEMENT	U	1.00	\$13,767.00	\$13,767.00	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00
556.302	WORKER PROTECTION	U	1.00	\$25,710.75	\$25,710.75	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
556.301	WORKER PROTECTION	U	1.00	\$20,650.50	\$20,650.50	\$50,000.00	\$50,000.00	\$10,000.00	\$10,000.00
556.202	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$385,661.25	\$385,661.25	\$122,000.00	\$122,000.00	\$250,000.00	\$250,000.00
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$309,757.50	\$309,757.50	\$122,000.00	\$122,000.00	\$150,000.00	\$150,000.00
556.102	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$428,512.50	\$428,512.50	\$500,000.00	\$500,000.00	\$800,000.00	\$800,000.00
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$344,175.00	\$344,175.00	\$500,000.00	\$500,000.00	\$580,000.00	\$580,000.00
202.854	REMOVAL OF TRAFFIC SIGN BRACKET STUBS (BRIDGE)	EA	6.00	\$200.00	\$1,200.00	\$25.00	\$150.00	\$100.00	\$600.00

Totals: \$2,002,895.00 \$1,854,350.00 \$2,094,600.00

### **ABC Bid Data**

**NORTH HAMPTON BRIDGE PAINTING** 

42917

				PS&E		715 WES	DAD & BRIDGE LLC LEY AVENUE IGS, FL 34689-6711	PO E	CTIVE COATINGS INC BOX 119 NH 03051-0119
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Alt. Totals:						
			Totals:		\$2,002,895.00		\$1,854,350.00		\$2,094,600.00



NORTH HAMPTON BRIDGE PAINTING 42917

**NON-FEDERAL** 

					PS&E	4 LAW	PAINTING INC WIN ROAD HILL, NJ 08034	3601 Alt	BRIDGE INC . 19 Suite A BOR, FL 34683
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

	•	•							
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$125,000.00	\$125,000.00	\$200,000.00	\$200,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	6.00	\$5,000.00	\$30,000.00	\$4,000.00	\$24,000.00	\$1,000.00	\$6,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$2.00	\$4,000.00	\$2.00	\$4,000.00	\$2.00	\$4,000.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	2,000.00	\$1.82	\$3,640.00	\$4.00	\$8,000.00	\$2.00	\$4,000.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,000.00	\$0.34	\$680.00	\$2.00	\$4,000.00	\$2.00	\$4,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	4.00	\$10,000.00	\$40,000.00	\$15,000.00	\$60,000.00	\$10,000.00	\$40,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$4,500.00	\$18,000.00	\$4,000.00	\$16,000.00	\$2,000.00	\$8,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,000.00	\$20,000.00	\$5,000.00	\$20,000.00	\$2,000.00	\$8,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$140,000.00	\$140,000.00	\$100,000.00	\$100,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	4.00	\$10,000.00	\$40,000.00	\$4,500.00	\$18,000.00	\$5,000.00	\$20,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	400.00	\$25.00	\$10,000.00	\$100.00	\$40,000.00	\$50.00	\$20,000.00
556.402	WASTE MANAGEMENT	U	1.00	\$17,140.50	\$17,140.50	\$16,000.00	\$16,000.00	\$10,000.00	\$10,000.00
556.401	WASTE MANAGEMENT	U	1.00	\$13,767.00	\$13,767.00	\$12,000.00	\$12,000.00	\$8,000.00	\$8,000.00
556.302	WORKER PROTECTION	U	1.00	\$25,710.75	\$25,710.75	\$25,000.00	\$25,000.00	\$55,000.00	\$55,000.00
556.301	WORKER PROTECTION	U	1.00	\$20,650.50	\$20,650.50	\$25,000.00	\$25,000.00	\$45,000.00	\$45,000.00
556.202	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$385,661.25	\$385,661.25	\$20,000.00	\$20,000.00	\$385,000.00	\$385,000.00
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$309,757.50	\$309,757.50	\$20,000.00	\$20,000.00	\$355,000.00	\$355,000.00
556.102	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$428,512.50	\$428,512.50	\$875,000.00	\$875,000.00	\$518,000.00	\$518,000.00
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$344,175.00	\$344,175.00	\$675,000.00	\$675,000.00	\$423,700.00	\$423,700.00
202.854	REMOVAL OF TRAFFIC SIGN BRACKET STUBS (BRIDGE)	EA	6.00	\$200.00	\$1,200.00	\$2,000.00	\$12,000.00	\$2,000.00	\$12,000.00

Totals: \$2,002,895.00 \$2,279,000.00 \$2,365,700.00

### **ABC Bid Data**

**NORTH HAMPTON BRIDGE PAINTING** 

42917

				PS&E		4 LAW	PAINTING INC WIN ROAD HILL, NJ 08034	3601 Alt	BRIDGE INC t. 19 Suite A BOR, FL 34683
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Alt. Totals:						
			Totals:		\$2,002,895.00		\$2,279,000.00		\$2,365,700.00



NORTH HAMPTON BRIDGE PAINTING 42917

**NON-FEDERAL** 

				F	PS&E		DKO, LLC HORE DRIVE RINGS, FL 34689	777 N MEI	NTENANCE, INC. RIDIAN ROAD DWN, OH 44509
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

			Totals		\$2 002 895 00		\$2 391 812 00		\$2 859 440 00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$150,000.00	\$150,000.00	\$285,980.00	\$285,980.00
670.104	TEMPORARY PORTABLE LIGHTING	U	6.00	\$5,000.00	\$30,000.00	\$200.00	\$1,200.00	\$6,000.00	\$36,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$2.00	\$4,000.00	\$1.50	\$3,000.00	\$8.00	\$16,000.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	2,000.00	\$1.82	\$3,640.00	\$1.50	\$3,000.00	\$3.50	\$7,000.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,000.00	\$0.34	\$680.00	\$1.50	\$3,000.00	\$3.50	\$7,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	4.00	\$10,000.00	\$40,000.00	\$1,000.00	\$4,000.00	\$18,000.00	\$72,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$4,500.00	\$18,000.00	\$200.00	\$800.00	\$4,400.00	\$17,600.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,000.00	\$20,000.00	\$500.00	\$2,000.00	\$5,280.00	\$21,120.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$300,000.00	\$300,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	4.00	\$10,000.00	\$40,000.00	\$1,000.00	\$4,000.00	\$4,675.00	\$18,700.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	400.00	\$25.00	\$10,000.00	\$30.00	\$12,000.00	\$134.00	\$53,600.00
556.402	WASTE MANAGEMENT	U	1.00	\$17,140.50	\$17,140.50	\$5,000.00	\$5,000.00	\$7,000.00	\$7,000.00
556.401	WASTE MANAGEMENT	U	1.00	\$13,767.00	\$13,767.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00
556.302	WORKER PROTECTION	U	1.00	\$25,710.75	\$25,710.75	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00
556.301	WORKER PROTECTION	U	1.00	\$20,650.50	\$20,650.50	\$5,312.00	\$5,312.00	\$5,000.00	\$5,000.00
556.202	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$385,661.25	\$385,661.25	\$500,000.00	\$500,000.00	\$360,000.00	\$360,000.00
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$309,757.50	\$309,757.50	\$500,000.00	\$500,000.00	\$290,000.00	\$290,000.00
556.102	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$428,512.50	\$428,512.50	\$500,000.00	\$500,000.00	\$673,000.00	\$673,000.00
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$344,175.00	\$344,175.00	\$500,000.00	\$500,000.00	\$537,000.00	\$537,000.00
202.854	REMOVAL OF TRAFFIC SIGN BRACKET STUBS (BRIDGE)	EA	6.00	\$200.00	\$1,200.00	\$250.00	\$1,500.00	\$240.00	\$1,440.00

Totals: \$2,002,895.00 \$2,391,812.00 \$2,859,440.00

## **ABC Bid Data**

#### **NORTH HAMPTON BRIDGE PAINTING**

42917

				PS&E		760 BAYS	DKO, LLC SHORE DRIVE RINGS, FL 34689	777 N MEI	INTENANCE, INC. RIDIAN ROAD DWN, OH 44509
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
			Alt. Totals:						
			Totals:		\$2,002,895.00		\$2,391,812.00		\$2,859,440.00



NORTH HAMPTON BRIDGE PAINTING 42917

**NON-FEDERAL** 

				ı	PS&E	556 ANC	IG CONTRACTORS INC LOTE ROAD RINGS, FL 34689	SU	NE PAINTING TE 406 FL 33040-4019
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

	•	•							
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$60,000.00	\$60,000.00	\$80,000.00	\$80,000.00
670.104	TEMPORARY PORTABLE LIGHTING	U	6.00	\$5,000.00	\$30,000.00	\$1,500.00	\$9,000.00	\$3,000.00	\$18,000.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$2.00	\$4,000.00	\$2.00	\$4,000.00	\$8.00	\$16,000.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	2,000.00	\$1.82	\$3,640.00	\$1.00	\$2,000.00	\$6.00	\$12,000.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,000.00	\$0.34	\$680.00	\$2.00	\$4,000.00	\$4.00	\$8,000.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	4.00	\$10,000.00	\$40,000.00	\$14,976.00	\$59,904.00	\$14,000.00	\$56,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$4,500.00	\$18,000.00	\$3,312.00	\$13,248.00	\$3,000.00	\$12,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$5,000.00	\$20,000.00	\$2,880.00	\$11,520.00	\$3,000.00	\$12,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$120,000.00	\$120,000.00	\$80,000.00	\$80,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	4.00	\$10,000.00	\$40,000.00	\$6,500.00	\$26,000.00	\$8,000.00	\$32,000.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	400.00	\$25.00	\$10,000.00	\$50.00	\$20,000.00	\$160.00	\$64,000.00
556.402	WASTE MANAGEMENT	U	1.00	\$17,140.50	\$17,140.50	\$25,000.00	\$25,000.00	\$14,000.00	\$14,000.00
556.401	WASTE MANAGEMENT	U	1.00	\$13,767.00	\$13,767.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00
556.302	WORKER PROTECTION	U	1.00	\$25,710.75	\$25,710.75	\$65,000.00	\$65,000.00	\$62,000.00	\$62,000.00
556.301	WORKER PROTECTION	U	1.00	\$20,650.50	\$20,650.50	\$65,000.00	\$65,000.00	\$45,000.00	\$45,000.00
556.202	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$385,661.25	\$385,661.25	\$250,000.00	\$250,000.00	\$435,000.00	\$435,000.00
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$309,757.50	\$309,757.50	\$250,000.00	\$250,000.00	\$315,000.00	\$315,000.00
556.102	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$428,512.50	\$428,512.50	\$874,700.00	\$874,700.00	\$869,000.00	\$869,000.00
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$344,175.00	\$344,175.00	\$874,700.00	\$874,700.00	\$631,000.00	\$631,000.00
202.854	REMOVAL OF TRAFFIC SIGN BRACKET STUBS (BRIDGE)	EA	6.00	\$200.00	\$1,200.00	\$1,500.00	\$9,000.00	\$1,000.00	\$6,000.00

Totals: \$2,002,895.00 \$2,908,072.00 \$2,917,000.00

### **ABC Bid Data**

**NORTH HAMPTON BRIDGE PAINTING** 

42917

				PS&E		OLYMPUS PAINTING CONTRACTORS INC 556 ANCLOTE ROAD TARPON SPRINGS, FL 34689		GEMSTONE PAINTING SUITE 406 KEY WEST, FL 33040-4019	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
Alt. Totals:									
	Totals:				\$2,002,895.00		\$2,908,072.00		\$2,917,000.00



## **PS&E Comparison**

NORTH HAMPTON BRIDGE PAINTING 42917 NON-FEDERAL

Item No.				A-Bidder		PS&E		
	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.854	REMOVAL OF TRAFFIC SIGN BRACKET STUBS (BRIDGE)	EA	6.00	\$25.00	\$150.00	\$200.00	\$1,200.00	(\$1,050.00)
556.101	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$500,000.00	\$500,000.00	\$344,175.00	\$344,175.00	\$155,825.00
556.102	PAINTING EXISTING STRUCTURAL STEEL	U	1.00	\$500,000.00	\$500,000.00	\$428,512.50	\$428,512.50	\$71,487.50
556.201	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$122,000.00	\$122,000.00	\$309,757.50	\$309,757.50	(\$187,757.50)
556.202	CONTAINMENT AND ENVIRONMENTAL PROTECTION	U	1.00	\$122,000.00	\$122,000.00	\$385,661.25	\$385,661.25	(\$263,661.25)
556.301	WORKER PROTECTION	U	1.00	\$50,000.00	\$50,000.00	\$20,650.50	\$20,650.50	\$29,349.50
556.302	WORKER PROTECTION	U	1.00	\$50,000.00	\$50,000.00	\$25,710.75	\$25,710.75	\$24,289.25
556.401	WASTE MANAGEMENT	U	1.00	\$5,000.00	\$5,000.00	\$13,767.00	\$13,767.00	(\$8,767.00)
556.402	WASTE MANAGEMENT	U	1.00	\$5,000.00	\$5,000.00	\$17,140.50	\$17,140.50	(\$12,140.50)
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	400.00	\$1.00	\$400.00	\$25.00	\$10,000.00	(\$9,600.00)
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	4.00	\$500.00	\$2,000.00	\$10,000.00	\$40,000.00	(\$38,000.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$50,000.00	\$50,000.00	\$100,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$500.00	\$2,000.00	\$5,000.00	\$20,000.00	(\$18,000.00)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	4.00	\$500.00	\$2,000.00	\$4,500.00	\$18,000.00	(\$16,000.00)

Tuesday, June 23, 2020 Page 10 of 11



## **PS&E Comparison**

NORTH HAMPTON BRIDGE PAINTING 42917 NON-FEDERAL

				A-Bidder		PS&E			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	4.00	\$500.00	\$2,000.00	\$10,000.00	\$40,000.00	(\$38,000.00)	
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	l	2,000.00	\$0.10	\$200.00	\$0.34	\$680.00	(\$480.00)	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	2,000.00	\$0.10	\$200.00	\$1.82	\$3,640.00	(\$3,440.00)	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	2,000.00	\$0.10	\$200.00	\$2.00	\$4,000.00	(\$3,800.00)	
670.104	TEMPORARY PORTABLE LIGHTING	U	6.00	\$200.00	\$1,200.00	\$5,000.00	\$30,000.00	(\$28,800.00)	
692.	MOBILIZATION	U	1.00	\$200,000.00	\$200,000.00	\$100,000.00	\$100,000.00	\$100,000.00	
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00	
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00	

**Total:** \$1,854,350.00 \$2,002,895.00 (\$148,545.00)

Tuesday, June 23, 2020 Page 11 of 11